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You do not need any extra paper, write down all your answers right here ! Use the back page if necessary.

1. Why should we learn about ICT (710 points)?
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 3.List 6 (six) examples of the teaching farmat (5 points): _
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4. List 6 (six) aspects to support the%;arf in ‘sléjlls#*(Spq;jnts):
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5. In one of you"r group assigments, your group has made.a visit to an ICT facility for education (10
points): ' .

(a) Name the ICT Ffacility your group has visited: L4t Wﬁ W_ 7 Makcsfs o
(b) List 2 (two) examples of hardware, software and humanware aspects at the ICT racility:
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6. Your group has interviewed a practicing teacher to make an assessment on her/his mastery in ICT

and how he/she uses the ICT to support his/her job (70 points):
(3) The teacher'é name: S ¢ ISEP / ) __ place of work: _8%¢? %) i b
(b) His/hegrmastery of ICT js.(circleonly o.1e-answerk |
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(c) Explanation of 6{b):
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(use the back page if necessary)
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You do™not need any extrapaper, write aown all your answers right here | Use the back page if necessary.
7. A society where the majority of its population earn their living as information workers is called an
i %7 ol 'society (5 pointsy. What do Information workers do for living? (70

points) Afswer. They AlWSrys ge 1o . G W by [l af oY Aiche
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Examples of information workers are (give thrge more): Teachers,
(Mlents | pperafoco Vasy/ Baak V.
4
8. There are 3 (ENee) levels of Information Systems, from the lowest to the highest (10 points):
1. /. - based Information Systems |

2. gm% _ -based Information Systems, and
3. _ AeF Wev- - based Information Systems

8. What mode of communication did Shannen aqd Weaver's model of communication

originally represent? Answer: ___S‘/{%/éﬂ -  “mode. 2 (two) other modes of
communication derived from the same_model are: (a) WC Q""é W
and (b) Y leX . (10 points)

9. The _smallest _unit of infokmation is /..’g-"y“st*a‘hds For (an abrreviation of)
' @‘naﬁz 691'%7( \ 7 (8 ner-ts)

- 10.  Create 16 (sixteen) different "4-bit binary codes” to idantify 16 different persons (70

points):
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11. Write down your answers below, or use the back page if necessary:

(a) If each letter or character is coded into a 10 bit binary code of information, every word is made

up Fro_n:u 5 lel:'ters in ayef“a‘g‘e’; and the content of every page is about-500 words in average, how
many bits of information are there contained.in.a 250-page book? (§ point). |
(b) How many books about the same¢ize ac described in 11

1 a) can Fill 8 G N .
B(yte) =10 b(its), so 8 GB = 80 Gb)(5 point). 11(a) canfill up an 8 GB Ftash Disk? (Note 1
Answer: * | | |

11. (3)
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